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C � �������������� ���������� A = k -mod�

��������� A f−→ B g−→ C h−→ A[1] � ���������� �����
�������������

. . .
g [−1]−−−→C [−1] h[−1]−−−→A f−→B g−→C h−→A[1] f [1]−−→B[1] g [1]−−→C [1] h[1]−−→ . . .
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C [2]
A[2] → B[2]

←

C [1]
←

A[1] → B[1]
←

C
←

A → B
←

C [−1]
←

A[−1] → B[−1]
←

C [−2]
←

A[−2] → B[−2]
←

C [−3]
←
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C
A →

+1
← B

←





� ������������

��������� �� ����� ������ θ � �����������



C = k -mod�





�����������



���������� � �����������



������� �������



g k

f

h

k ◦ f





������� ���������

C = k -mod�



����� ������������ � ���������



����� ������������ �� �������

Cone = M � ��������� dg→ → dg� �� → � ��������� � �����
��������� �� � � ������ ���������� �������� 0 → 1�
C→ � ��������� ������� � C �
ObC→ = MorC �
C→(f : A → B,g : X → Y )

=
�

(u : A → X ,v : B → Y ) ∈ (MorC )2
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A f → B
=

X
u↓

g → Y
v↓

�
.

Cone(f : A → B) =
�

A[1]⊕B,

�
dA[1] σ−1 · f

0 dB
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�

���������
dA[1] σ−1 · f

0 dB

�2
= 0

Cone
� A f → B

=
X

u↓
g → Y

v↓

�
= u[1]⊕ v � ���� �� ∈ dg�
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X 1 → X

X

1↓
f → Y

f↓
Cone→ Cone(1, f ) = 1⊕ f : Cone1X → Cone f .

∃φ =
�

0
g

�
: Cone f → Z ∈ dg ⇐

�
dX [1] σ−1 · f

0 dY
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=
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0
g

�
dZ �

0 → Cone1X
Cone(1,f )→ Cone f φ−→ Z → 0

����� �� ⊕ � gr ��������������
0 → X [1] 1−→ X [1] → 0 → 0 � 0 → X f−→ Y g−→ Z → 0�
��������

Cone1X � ���������� �∃s : 1Cone1 = sd +ds��
���� Cone1X � ���������� ⇒ φ � ���������������� ⇒ φ
��������� � D(k -mod) ⇒ � D(k -mod) ����� ����������
�����������



X f → Y g → Z φ−1·β(f )→ X [1]

X

�����
f → Y

�����
α(f )→ Cone f

φ ∼=
↑

β(f )→ X [1]
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�������� ���������� � D(k -mod)←

����� ����� ������������� � k -mod
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